

4. $\sin \alpha - \sin(\alpha + \beta) + \sin(\alpha + 2\beta) - \sin(\alpha + 3\beta) + \dots$ to infinity

Let $S = \sin \alpha + \sin(\alpha + \beta) + \sin(\alpha + 2\beta) + \dots$ to infinity
 sum of positive angles whose angles are in A.P. apply formula

$$S = \frac{\sin \frac{\alpha + \beta}{2}}{\sin \frac{\alpha + \beta}{2}} \sin \left\{ \alpha + (n-1) \frac{\alpha + \beta}{2} \right\}$$
 Ans

5. $\sqrt{1 + \cos 2\alpha} - \sqrt{1 + \cos 4\alpha} + \sqrt{1 + \cos 6\alpha} - \dots$ to infinity

$$S = \sqrt{2\cos^2 \alpha} - \sqrt{2\cos^2 2\alpha} + \sqrt{2\cos^2 3\alpha} - \dots$$

$$= \sqrt{2} \cos \alpha - \sqrt{2} \cos 2\alpha + \sqrt{2} \cos 3\alpha - \dots$$

$$= \sqrt{2} [\cos \alpha - \cos 2\alpha + \cos 3\alpha - \cos 4\alpha + \dots]$$

$$= \sqrt{2} [\cos \alpha + \cos(\alpha + 2\alpha) + \cos(\alpha + 4\alpha) + \dots]$$

$$= \sqrt{2} \sin \frac{\alpha + \alpha}{2} \cos \left\{ \alpha + (n-1) \frac{\alpha + \alpha}{2} \right\}$$
 Ans

6 (i) $\sqrt{1 + \sin \alpha} + \sqrt{1 + \sin 2\alpha} + \sqrt{1 + \sin 3\alpha} + \dots$ to infinity

$$= \sqrt{\cos^2 \frac{\alpha}{2} + \sin^2 \frac{\alpha}{2} + 2 \sin \frac{\alpha}{2} \cos \frac{\alpha}{2}} + \sqrt{\cos^2 \frac{2\alpha}{2} + \sin^2 \frac{2\alpha}{2} + 2 \sin \frac{2\alpha}{2} \cos \frac{2\alpha}{2}} + \dots$$

$$= \sqrt{(\cos \frac{\alpha}{2} + \sin \frac{\alpha}{2})^2} + \sqrt{(\cos \frac{2\alpha}{2} + \sin \frac{2\alpha}{2})^2} + \dots$$

$$= (\cos x, \sin x) + (\cos 2x, \sin 2x) + (\cos 3x, \sin 3x) + \dots$$

$$= \left\{ \cos x, \cos 2x, \cos 3x, \dots \right\} + \left\{ \sin x, \sin 2x, \sin 3x, \dots \right\}$$

$$= \frac{\sin n \frac{x}{4}}{\sin \frac{x}{4}} \cos \left(\frac{x}{4} + (n-1) \frac{x}{4} \right) + \frac{\sin n \frac{x}{4}}{\sin \frac{x}{4}} \sin \left(\frac{x}{4} + (n-1) \frac{x}{4} \right)$$

$$= \frac{\sin n \frac{x}{4}}{\sin \frac{x}{4}} \left\{ \cos \frac{2x + (n-1)x}{4} + \sin \frac{2x + (n-1)x}{4} \right\}$$

$$= \frac{\sin n \frac{x}{4}}{\sin \frac{x}{4}} \cos \frac{x}{4} \left\{ \cos \frac{2x + (n-1)x}{4} + \sin \frac{2x + (n-1)x}{4} \right\}$$

$$= \frac{\sin n \frac{x}{4}}{\sin \frac{x}{4}} \cos \frac{x}{4} \left\{ \cos \frac{(n+1)x}{4} + \sin \frac{(n+1)x}{4} \right\}$$

6 (ii) $\frac{3\sqrt{3}}{4} \sin \theta + \frac{1}{4} \cos \theta = \frac{1}{2}$

$$\tan \frac{n\pi}{4} = \tan^2 x - \tan^2 y$$

7 (ii) $\cos 30^\circ \cos 40^\circ \cos 50^\circ \cos 60^\circ + \dots$

Use product to sum formula
use $\sin 2\theta = 2 \sin \theta \cos \theta$
2 at each side
divide by $\sin 40^\circ$

Let $S =$

$$2S = 2 \cos 30^\circ \cos 40^\circ + 2 \cos 40^\circ \cos 50^\circ + 2 \cos 50^\circ \cos 60^\circ + \dots$$

$$= \cos(30^\circ) + \cos 70^\circ + \cos 110^\circ + \dots$$

$$= \left\{ \cos 30^\circ + \cos 70^\circ + \cos 110^\circ + \dots \right\} + \left\{ \cos 40^\circ \cos 50^\circ + \dots \right\}$$

$$= \frac{\sin n \frac{40^\circ}{2}}{\sin \frac{40^\circ}{2}} \cos \left\{ 30^\circ + (n-1) \frac{40^\circ}{2} \right\} + \dots$$

$$\cos A \cos B = \frac{\cos(A+B) + \cos(A-B)}{2}$$

$$\text{or } 2S = \frac{\sin n 2\theta}{\sin 2\theta} \cos \{3\theta + 2\theta - 2\theta\} + n \cos \theta \quad (1)$$

$$= \frac{\sin n 2\theta}{\sin 2\theta} \cos \{2\theta + \theta\} + n \cos \theta$$

$$\therefore S = \frac{1}{2} \left[\frac{\sin 2n\theta}{\sin 2\theta} \cos \{(2n+1)\theta\} + n \cos \theta \right]$$

7(ii) अपुनः अपुनः तदुपलक्षणं

8. prove $\frac{\sin x + \sin 3x + \sin 5x + \dots + \sin nx}{\cos x + \cos 3x + \cos 5x + \dots + \cos nx}$

$$N = \sin x + \sin 3x + \sin 5x + \dots + \sin nx$$

$$= \frac{\sin n \frac{2x}{2}}{\sin \frac{2x}{2}} \sin \left\{ \frac{2 + (n-1) \frac{2x}{2}}{2} \right\}$$

$$= \frac{\sin nx \cdot \sin \left(\frac{x + nx - x}{2} \right)}{\sin x}$$

$$= \frac{\sin nx \cdot \sin nx}{\sin x} \quad (1)$$

$$D = \cos x + \cos 3x + \cos 5x + \dots$$

$$= \frac{\sin n \frac{2x}{2}}{\sin \frac{2x}{2}} \cos \left\{ \frac{2 + (n-1) \frac{2x}{2}}{2} \right\}$$

$$= \frac{\sin nx \cdot \cos \{x + nx - x\}}{\sin x}$$

$$= \frac{\sin nx \cdot \cos nx}{\sin x} \quad (2)$$

$$\therefore L.U.S = \frac{N}{D}$$

$$= \frac{\frac{\sin nx \cdot \sin nx}{\sin x}}{\frac{\sin nx \cdot \cos nx}{\sin x}}$$

$$= \frac{\sin 2x}{\cos 2x} = \tan 2x \quad \text{proved.}$$